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SSUHAHSIIS(SE AE) o3 953,630| 1,158,425  A204,795
704 ofj &2 953,630 1,158,425  A204,795
01 oe= 953,630 953,630 |  1,158,425|  ~A204,795
NESHEAESIIZ(SE HE) o2
953,630,000 1 = 953,630
n =z g A 1,186,790 1,452,225  A265,435
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3. Y D24 &L HEHSE
YAHAC 20224
Ol &FXb== @ 20l At
JARE - NEII2 Cel i )
4o
o= Sx25/4
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OIRHEE)

20162 DX 2,778,570 500,000 0 0 0 0 457,428 | 1,821,142
201748 & 313,890 0 0 0 0 0 42,001 271,889
201848 & 57,532 0 0 0 0 0 45,647 11,885
201948 & 192,343 0 0 0 0 0 42,901 149,442
202049 & 88,827 0 0 0 0 0 16,969 71,858
20219 & 87,429 0 0 0 0 0 27,429 60,000
20223 & 79,282 0 0 0 0 0 19,282 60,000

Al 3,597,873 500,000 0 0 0 0 651,657 | 2,446,216
SIHHE 2022
Gl & Xb== 0 201 &
AARE  EIIB Seldd)

X| SH OH
= (= |

= - & o

FE2| e |HBKE | SNUE emeas | Y3 | U3 | .. | @-
APIHL | AFHI % J1=3H] | S22 | HeSaE

20162 DX 717,364 717,364 0 0 0 0| 2,061,206
20179 & 116,281 116,281 0 0 0 0 197,609
20189 &= 379,356 379,356 0 0 0 0| A321,824
20199 & 618,906 618,906 0 0 0 0| 2A426,563
202049 &= 285,376 285,376 0 0 0 0| 2196,549
20219 & 293,800 293,800 0 0 0 0| ~A206,371
20229 & 233,160 233,160 0 0 0 0| 2153,878

Al 2,644,243 | 2,644,243 0 0 0 0 953,630

% 20001 AN 2R Zlol|Aoh 2022 A=
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Odl

S Al

SIHAE : 2022\

Ol AFRES @ =0l Ak

SIHPE : NEII2 (ct9l: &2

MX L oo
22| oIx(E)A - - . HI 2
2020 CLUBTNH | 202HEUBI M@ | 2022 E LB AH® 52(®-@)

B3 1,313,879 1,107,508 953,630 A 153,878

EETPS' 1,313,879 1,107,508 953,630 A 153,878
BN 1,313,879 1,107,508 953,630 A 153,878
I
(=8 AHE)

% 20201 ZAkH D01 ZAtof AteH oL | 2] oK

_57_




_58_



_59_



Rl
10
00
OH

120224
=YV R,

=
[

| H A=

Ol &k b=

|47
@ JISEX M

3

3

KA

00
OH

ok

SAl 227

19974

00

OH

s

o)
A0
Ay

P

ol

H

ok

T

10y
0H

il

=

Kl
Ko

Hr

oJ
H

H
oir

ol

(1) JI2AL

|
10

ol

™
M0
JIJ
<)
ol

il

Rr

(2) 2022 & J|2AIY MR

00
OH
ok

0
K4
ro

o0
)

=
o

70
K

o
all

iy
&l

=

770,048

il

X0
K| ©
H K

A

20224

22,000

ol

3+

22,000

all ®
U ar
W

KA

2021

770,048

0
0
Kq
K0
no

0

%0
Kd

0

@=@+0-0©

770,048

o

=N}
3l=MA ©

ol

770,048

J
<]
o
ol
ol
ol

ok

KJ

_60_



2. A=

00

{0
o

SIHAE 20224

Ol &b Xb== 0 20l &F

HRE  LAFX0I2

OPN=E N SEREED)

+= & £ A &
& = = g 2 XNgd | HEASKEN g 2

= Al 792,048 7,915 792,048 784,133 7,915
de=s 0 22,000 22,000 0
2x3 0 0 0 0
= 0 0 0 0
e ; o
HEsE32+ 770,048 7,915 770,048 762,133 7,915
ol XI=2l 0 0 0 0
Ol== 0 0 0 0
Ol Kt==¢ 22,000 0 0 0 0
JIEt==¥ 0 0 0 0
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SIAHHE 20224
Ol &b Xb== 0 20l &F
HRE  LAFX0I2

@ == Chel: @ el
= dEE - .
Eoas - I R =2 & E U
700 EH-UASLUHF AN 792,048 784,133 7,915
720 LH= DA cH 792,048 784,133 7,915
722 e 32 M=+=2 792,048 784,133 7,915
722-03 I =33+ 770,048 762,133 7,915
NZAa HEZ 233+
770,048,000& 14 = 770,048
722-04 O € S0l Ah= 22,000 22,000 0
NEEMHHHSIIZ(EE HAH)
Ol Rt==¢
22,000,000& 14 = 22.000
= g & A 792,048 784,133 7,915
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BT 1 2022
Ol AbXp 2 0fl Ak

AT LO=XIID

® X=HE chel & Sl)

ZX 2. B - O - MEAY - B use | S2= | ypza
X EH

I=PSE-PSE 792,048 784,133 7,915

Col - HAd 792,048 784,133 7,915

Lol =X =& 22,000 22,000 0

COIEIIIB(LOEXII2) 22,000 22,000 0

24 =X 243 22,000 22,000 0

307 ©I2t0I M 22,000 22,000 0

05 olztelerD 22,000 22,000 22,000 0

NO24 SXEA Z2AY 22,000,0002 14 = 22,000

HWRES(HZAHAED) 770,048 762,133 7,915

VES E WEICSIEIPIE)) 770,048 762,133 7,915

SENEAFIIS(SE HE) GE=3 770,048 762,133 7,915

704 Ol 3 770,048 762,133 7,915

01 o= 770,048 770,048 762,133 7,915

NESWHAHSIIS(SE HFY) W2
770,048,00084 « 1 = 770,048
N o&s & A 792,048 784,133 7,915
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SIHAE 20224
Ol &b Xb== 0 20l &F

SIHRE ¢ Lo=2X02 (2 &)
x o o
C W o =
=2 e | myz | wzxz | ne= ﬁ)ff;;) 42 | OIXAY | JIEIS
201649 DFXI 1,191,016 600,000 0 0 0 0 521,016 70,000
20179 & 22,000 0 0 0 0 0 22,000 0
20188 &= 22,058 0 0 0 0 0 22,058 0
20199 &= 22,000 0 0 0 0 0 22,000 0
20208 & 12,002 0 0 0 0 0 12,002 0
20218 &= 22,000 0 0 0 0 0 22,000 0
2022E &= 22,000 0 0 0 0 0 22,000 0
Al 1,313,076 600,000 0 0 0 0 643,076 70,000

SIAHHE ¢ 20224
Ol &b XF= 0 20l &

s ¢ Lo=XIIZ (25:88)
oo
= &
FE2| e |HBKE | SNUE emeas | Y3 | U3 |0 @-
AFRHI | Argjll % JI=3l fei3yE JeigaE
2016 JHK 432,088 374,088 0 58,000 0 0 0 758,928
20179 ¢ 22,000 22,000 0 0 0 0 0 0
20189 = 22,000 22,000 0 0 0 0 0 58
20198 &= 22,000 22,000 0 0 0 0 0 0
20208 = 940 940 0 0 0 0 0 11,062
202149 22,000 22,000 0 0 0 0 0 0
20228 &= 22,000 22,000 0 0 0 0 0 0
Al 543,028 485,028 0 58,000 0 0 0 770,048

¥ 2000 ZAKH 20p1A ZALof AfoH 0L | 5]k

_64_




=12 O El2
4. OIxl=2 & &= YAl
BIHSAE 1 2002w
Ol AbXF2 = 0jl ok
SIHPE : Lol=x)|2 ol @ 2
OGIX % ofsrod
22 ()R - - -
2020 LYY | 2021HELHIH@ | 20224 CL BT H® =
=Sy 770,048 770,048 770,048
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2. A=

00

{0
o

SIHAE 20224

Ol &b Xb== 0 20l &F

SIHRE  JIFHEDI2

OPN=E N SEREED)

+= & A | Al g
& = QN dECo i HECX =N s Z

= Al 71,461 100, 344 A28,883 100, 344 N28,883
de=s 0 0 44,515 A44.515
2x3 23,021 A23,021 0 0
= 0 0 0 0
e R R
HEsE32+ 49,630 53,231 A3,601 55,829 15,632
ol XI=2l 0 0 0 0
Ol== 0 0 0 0
Ol Kb==¢& 1,201 1,462 N 261 0 0
JIEr=E 20,630 22,630 A2,000 0 0
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SIHAE 20224
Ol &b Xb== 0 20l &F

SIHRE  JIFHEDI2

@ =UNE )
= dEE - .
e SU | oo =2 & E U
200 Al2l==¢ 20,630 22,630 22,000
210 S E A= 20,630 22,630 22,000
212 HEZ Y 20,630 22,630 22,000
212-09 JIEtAtE=Z 20,630 22,630 /2,000
=Ldn 20,630
HLBEA 1S
703130, 000kWh = 9,100
HAS A 257
702 %79,000kwh = 5,530
LU A 125
30,000 & »200REC = 6,000
700 EH-UASLUHF AN 50,831 54,693 23,862
720 LHS DA eH 50,831 54,693 23,862
722 HE=H 0= 50,831 54,693 A3,862
722-03 It = =3 49,630 53,231 23,601
HE=s B3zl
9,630,000&*1& = 49,630
722-04 Ol & =S 01 Ak == 1,201 1,462 A 261
a3 (SE AHE)
1,201,000& 14 = 1,201
= o ¥ 71,461 100,344 28,883
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AT 2022
Gl AFXE2: =0l AF
SHRE : J|SHE|2
® X&HE crol M)
_ _ HEAT
EX .22 FHU - B - ARAY - BAS Xl = aw | DS
e’ 71,461 100,344 A28,883
ol 71,461 100,344 A28,883
Wess (22 71,461 55,829 15,632
WEHHXIZE(DIZH5DI2) 71,461 55,829 15,632
SHWHHHSIIZ(SE HE) HE2 71,461 55,829 15,632
704 OIlEt2 71,461 55,829 15,632
01 o= 71,461 71,461 55,829 15,632
NESWEHHSIIIZ(SE HE) o2
71,461,000 %13 = 71,461
i = 8 A 71,461 100,344 A28,883
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:- D — — —
3. 8 J|2X4d 2 Aol g
SIHAHE : 20224
Ol &EXb2= 0 20 &
SIHRE : JIEHEI|S o )
X8 o
ol T o Sxa35|4
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OI Rt )

2016 kX 0 0 0 0 0 0 0 0
20178 & 0 0 0 0 0 0 0 0
20188 & 57,248 0 0 0 0 0 187 57,061
20198 & 51,653 0 0 0 0 0 573 51,080
202049 &= 25,321 0 0 0 0 0 416 24,905
20219 & 47,113 0 23,021 0 0 0 1,462 22,630
202249 &= 21,831 0 0 0 0 0 1,201 20,630

Hl 203, 166 0 23,021 0 0 0 3,839 176,306
SIHAHE 20224
Ol &b Xb== 0 204 (Cte &)
SIHRE : JEHE|2 -

& oo
o = - P
=2 T = H® HEANS | 8Xd | ez2gy | XS Ol SlExE | @®
AFIHI | AFIHI |% D123 | 2p|2 A |22 AE =

2016 DX 0 0 0 0 0 0 0 0
20178 & 0 0 0 0 0 0 0 0
201849 &= 25,036 25,036 0 0 0 0 0 32,212
201949 & 17,343 17,343 0 0 0 0 0 34,310
20208 &= 44,811 44,811 0 0 0 0 0 219,490
20219 & 44,515 44,515 0 0 0 0 0 2,598
20223 & 0 0 0 0 0 0 0 21,831

Hl 131,705 131,705 0 0 0 0 0 71,461
¥ 2020 ZAKH 202114 Z Aol Ao 202214 A =l ok
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2. A=

00

Ho
o

SIHAE 20224

Ol &b Xb== 0 20l &F

AHTE 0 2 NYHII=

OPN=E N SEREED)

- & A | £ A &
& = QN dECo i INE-E HECX =N s Z

= Al 2,182,960 2,246,609 A63,649 2,182,960 2,246,609 A63,649
de=s 0 0 0 657,730 628,822 28,908
2X= 0 0 0 0 0 0
= 0 0 0 0 0 0
HEsE32+ 1,646,946 1,731,381 A84,435 1,525,230 1,617,787 N92,557
ol XI=2l 0 0 0 0 0 0
Ol== 0 0 0% 0 0 0
Ol Kb==¢& 27,230 38,423 211,193 0 0 0
JIEr=E 508,784 476,805 31,979 0 0 0
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SIHAE 20224
Ol &b Xb== 0 20l &F
AFE - SAZ LIS

@ == (el &)
= dE S — -
ImEs SU | oo = A B Y o
200 Ml2l+=¢ 508,784 476,805 31,979
210 S&EN 2+ 70,000 70,000 0
213 =2 +¢ 70,000 70,000 0
213-05 J|Et==2 70,000 70,000 0
NSAZN2 sl =22
35,000,000 14 = 35,000
Ne=2 NEAHNAML =22
35,000,000& 14 = 35,000
220 SAIEAN 2= 168,784 136,805 31,979
225 XN-E &9 168,784 136,805 31,979
225-01 \igtd &g 168,784 136,805 31,979
2)20214
1,086,320,000& 5% = 54,316
2)2020\3 467 ,569,0002 %3% = 14.027
2)20194 0| &
5,022,088,500& 2% = 100, 441
230 NHHEMM - L0323 270,000 270,000 0
232 0|2 HZ 20,000 20,000 0
232-01 Ol ML N3 20,000 20,000 0
NSNS S A2y et
OlZH=
20,000,000 14 = 20,000
234 LEiZ 250,000 250,000 0
234-02 JIEttEH = 250,000 250,000 0
NsABN=S S 22y ALt
e E
250,000,000 14 = 250,000
700 Ed=LSLUHEHAH 1,674,176 1,769,804 95,628
720 LHE A eH 1,674,176 1,769,804 A95,628
722 I =XM== 1,674,176 1,769,804 AN95,628
722-03 HIE2A 32+ 1,646,946 1,731,381 AB84,435
N oE2 238>
1,646,946,0002 1 = 1 646,946
722-04 W& =0l Kk==L 27,230 38,423 A11,193
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SIHHE 20224

Ol AFXES: @ =04 AF
TR RAYDLFI|I2
@ XA (erol@a)
FSIEN=
EE 22 FH - CY - NRAY - BAS NELT s | HREZ
A2 2.182,960| 2,246,609 63,649
X AL E Al 2.182,960| 2,246,609 63,649
2N el L ESH N 657,730 628,822 28,908
SLNUMI| S (SAZ DL HI|2) 657,730 628,822 28,908
QTURA A HHHIER X 540,000 510,000 30,000
307 2I2H0| & 540,000 510,000 30,000
02 DIZIHAAQIEIX 540,000 540,000 510,000 30,000
DOUXI RS 2BHA HE X
260,000,0008 1 = 260,000
NAFEX 2HEIHA HI2 XY 280,000,000 %1E = 280,000
EHZDES 2HBAK 66,000 66,000 0
301 YerE X2 66,000 66,000 0
12 JERAD 66,000 66,000 66,000 0
NEHZDS £{BA 250,000 +24+11HE = 66,000
29ZNE A 9,000 8,000 1,000
201 et 9,000 8,000 1,000
01 A2 R2H| 9,000 9,000 8,000 1,000
N2QYTDS AU 3,000,0002+33] = 9,000
S0 U™HAI &x 17,940 20,720 72,780
401 A& HI 2 20HH| 17,940 20,720 A2,780
01 Al&H 17,940 17,940 20,720 2,780
s A0 47 (DmD
1)8 =9t HAICH M?*Exl(oo;%g)o o0l 6. 600
NE2L HAH SNEBS(BRE)
300,0002 *1087H A *35% = 11,340
SIS M2 V2T A2 XS 4,790 4,102 688
303 TA2 4,790 4,102 688
01 ma= 4,790 4,790 4,102 688
NAHEE S2DNS M2 Narma2 4,790
2)20214 1,086,320, 0002 *5%+80%+ 1% = 435
2)2020 467,569, 0002 *3%+80%*3% = 337
2)20194 O & 5,022,088, 500! *2%*80%+5% = 4,018
SHEL0 BUS YHE 20,000 20,000 0
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HAE
TE .22 HH . o9l - MRAY - BHES L A HmE2

307 2I2H0| & 20,000 20,000 0

05 OI2toetm 20,000 20,000 20,000 0
NEYZDE TS HHES 20,000,0002+1E = 20,000

Megs(Aaze) 1,525,230 1,617,787 A92,557

WHEHHXS(SARDLEIZ) 1,525,230 1,617,787 N92, 557

SBEUHFSIIS(SE HE) o3 1,525,230 1,617,787 N9, 557

704 OlEt2 1,525,230 1,617,787 N92,557

01 o= 1,525,230 | 1,525,230| 1,617,787 N92,557
NESHERG|Z (S8 ?!?2%,?3?5)0%*15 ] 1 505 230

1 = g A 2,182,960 2,246,609 63,649
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3. &8 Jizxd ¥ ddaE
SIAHHE - 20224
Ol &FXb== @ 20l At
AHRZE  sAZ LN |2 TR SESD
z 8o
o = SK235| 4
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OIRHEE)

20162 DX 1,742,579 0 0 0 0 0 52,935| 1,689,644
201748 & 555,334 0 0 0 0 0 17,505 537,829
201848 & 1,011,005 0 0 0 0 0 13,651 997,354
201948 & 472,238 0 0 0 0 0 34,659 437,579
202049 & 337,915 0 0 0 0 0 25,756 312,159
20219 & 515,228 0 0 0 0 0 38,423 476,805
20223 & 536,014 0 0 0 0 0 27,230 508,784

Al 5,170,313 0 0 0 0 0 210,159 4,960, 154
SIHHE 0 2022E
Gl & Xb== 0 20 &
AT BABDLHIIB Seldd)

-
= &k ok
FE2| e |HIBKE | SNUE omess | Y3 | W3 | .o | @-
APIHI | AMRIHI % D123l Qpi3AE | H2SAE

20162 It K| 883,385 880,688 0 2,697 0 0 0 859, 194
201798 & 299,340 299,340 0 0 0 0 0 255,994
201849 & 302,249 302,249 0 0 0 0 0 708,756
20199 &= 497,749 497,749 0 0 0 0 0 A25,511
202049 & 375,808 375,808 0 0 0 0 0 A37,893
20219 & 628,822 628,822 0 0 0 0 0| A113,594
20229 & 657,730 657,730 0 0 0 0 0| 2A121,716

Al 3,645,083 | 3,642,386 0 2,697 0 0 0| 1,525,230
2000 Zotol 2021 A ZLkof Akl 20201 A& N
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2. Ai=s23H &

SIHAZ @ 2022

Ol &k Xb== 0 20l &

SHFRE W22

OPN=E N SEREED)

= & A g Xl = Al =
& = =gl ol dEE~Ql o8 s 2 & = NEH HEEXENH s 2

gt Al 4,430,928 3,668,668 762,260 | & Al 4,430,928 3,668,668 762,260
83 966,007 856, 133 109,874 | HIE A& ArZ I 594,000 537,000 57,000
8x3 0 0| S &AL 0 0 0
= 0 0|22yl 0 0 0
i 0 0| J1=2| 0 0 0
HEZ2A338 =+ 0 O|0lES 0 0 0
Ol XIZ 2=+ 3,406,735 2,750,600 656,135| 0l XI 2 3,836,928 3,131,668 705,260
tl== 0 0| xezaezas 0 0 0
Ol Kb==& 58,186 61,935 A3,749 | o222 4 0 0 0
JIEt==& 0 0| JIEtXI & 0 0 0

_87_




SHAZ 2022
Ol &b Xb== 0 20l &F
SHFRE W22
@ A= Chel: @ el
= dEE = _
5282 st | Lo 5 2 o E o
200 Mi2l==¢ 58,186 61,935 A3,749
210 Z&EN 2= 58,186 61,935 A3,749
216 Ol At==¢ 58,186 61,935 A3,749
216-01 230 =01 ==& 58,186 61,935 A3,749
Na30= olX=
58,186,000& 14 = 58,186
700 EH-UASLUHF AN 4,372,742 3,606,733 766,009
710 B82S 3,406,735 2,750,600 656,135
714 OIXI28 = 3,406,735 2,750,600 656,135
714-01 O XIS &8l == 3,406,735 2,750,600 656,135
1)'2148 Zaolla o3
3.406,735,000& 12 = 3,406,735
720 LHS2H ch 966,007 856, 133 109,874
721 8= 966,007 856, 133 109,874
721-03 JIEtSI HE L = 966,007 856, 133 109,874
1NLes 832
966,007,000& 14 = 966,007
= 2 g A 4,430,928 3,668,668 762,260
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BT @ 2020\
Ol AFRES =0 A
TR - W22
® XNEH= SERED
FSIEN=
EN S22 B . O - HRAY - BAS NEL aw | B3
S Al B} 4,430,928| 3,668,668 762,260
T - Bl 4,430,928| 3,668,668 762,260
Mol 2 My =ps 23 594,000 537,000 57,000
THH22101 2 (22101 2) 594,000 537,000 57,000
TH B AL & 0f 2 594,000 537,000 57,000
201 Yty 94,000 52,000 42,000
01 Al222)4| 86,000 86,000 44,000 42,000
NAZPESY &, Yoy S22 NN &
eS|
10,000, 0002 14! = 10,000
NESNER 2 17,000, 00024 x14! = 17,000
DI AL A X2H|2,000,0008 %1 = 2,000
NRUALE W02, HZD]) K (22
T
200,0002 300K 2 = 6,000
NSHALE SEXN(PSY, YYSE S)
9,000,000 *11 = 9.000
NAAZO GHEOIEAIE oAZ X
42,000,00021 1 = 42,000
03 SAIS Y| 8,000 8,000 8,000 0
NS 8,000,00024 %14} = 8.000
401 AI&HIL SO 500,000 485,000 15,000
01 A& 500,000 500,000 485,000 15,000
SAC HEu0| EA U SAALD E
X5HEe ALURAIL 2 X
30,000,0002 %14 = 30,000
NaE HHPY S 10,000,0008 14! = 10,000
HPES(SAIED) 3,836,928| 3,131,668 705,260
WEHAKIS (M 22I012) 3,836,928| 3,131,668 705,260
ol Xl 2 3,836,928| 3,131,668 705,260
602 011 XI2 3,836,928| 3,131,668 705,260
01 szl 2,036,928 | 2,036,928| 1,590,884 446,044
1)0IXI2 2,036,928,0002 x4 = 2,036,928
02 o205 1,800,000 |  1,800,000| 1,540,784 259,216
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(2ol @a)

XX .22 EH . B9 - ASAY - BAS ne | 5T | snsz
1)oIx2 1,800,000,0002 %14 = 1,800,000

X = & A 4,430,928| 3,668,668 762,260
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:- D — r—N —
3. d&d JZ2X4d 2 Aleis st
SIHAHE : 2022
Ol AXF== 0 20 A
SIHPE  MHL=ED2 S )
x5 o
ol = ¢ ST25| A
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OIXH &)

2016 DHX 7,552,760 6,229,475 67,950 0 0 0 939,483 315,852
20178 & 50,047 0 0 0 0 0 50,047 0
20188 & 1,476,473 1,427,136 0 0 0 0 49,337 0
20198 & 820,149 761,002 0 0 0 0 59,147 0
20208 & 869,588 795,955 0 0 0 0 73,633 0
20218 &= 918,068 856,133 0 0 0 0 61,935 0
2022E &= 1,024,193 966,007 0 0 0 0 58,186 0

Al 12,711,278 | 11,035,708 67,950 0 0 0 1,291,768 315,852
SIHHE : 2022
Ol &AXE== 0 20 A
SHIE D2 Gl )

T 3 oM
= Xt oH
s, 4® HSXd | 8XE | azegy | XIS oll4=2 JlENE | @-
ASHl | AFRIH| | JI2H | A 2 AE | A2 AE =

2016 DFAI 4,999,969 4,999, 969 0 0 0 0 0 2,552,791
20178 = 534,882 534,882 0 0 0 0 0 N484 835
20188 = 547,016 547,016 0 0 0 0 0 929,457
20199 &= 531,060 531,060 0 0 0 0 0 289,089
20208 &= 1,464,546 1,464,546 0 0 0 0 0 594 958
20219 & 202,877 202,877 0 0 0 0 0 715,191
2022E = 594,000 594,000 0 0 0 0 0 430, 193

A 8,874,350 8,874,350 0 0 0 0 0 3,836,928
H 200K Zatel 20p1iA ZatofAfel 20001 A%
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|23 O |
4. Oixls & &= SAl
1 20224
L 2o
B EEPIE) (ctol: Mg
OIXI 2 ol Erod
Ol Xl (=) A - - -
O0H ST | 202HEUBN U@ | 0RHCLEUE® |  B2(®-@)
2,691,544 3,406,735 3,836,928 430,193
Al 2,691,544 3,406,735 3,836,928 430,193
20(2ci2H™) 2,691,544 3,406,735 3,836,928 430,193
A AL 20211 Zotof At 2022 A=l
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2. A=

[0
00
xd
Jjon

SIHAE 20224
Ol &b Xb== 0 20l &F
JAHTZE  E2SEEFR)I=

OIPE=E N CE-ED
= & A g Xl = Al =
& = =gl ol dE o s 2 & = INE-L HEEXENH s 2
gt Al 5,532,961 4,592,109 940,852 | & Al 5,532,961 4,592,109 940,852
83 0 0 0| HIEXtd ALY 1,008,702 1,007,500 1,202
2x2 0 0 0| A AL 0 0 0
= 0 0 0|2 48,156 45,707 2,449
if}x?f; 0 0 0] JI=&4| 0 0 0
et =33 4,456,368 3,513,837 942,531 | & = 4,476,103 3,538,902 937,201
OlXlI33l =+ 0 0 0|0IXI= 0 0 0
tl== 0 0 0| xezaezas 0 0 0
Ol Kb==& 76,593 78,272 A1,679| 022248 0 0 0
JIEt==& 1,000,000 1,000,000 0| IEtXI & 0 0 0
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SIHAE 20224
Ol &b Xb== 0 20l &F

JAHTZE  E2SEEFR)I=

@ A= Chel: @ el
= dEE = _
T.oa.e 20 | SO | B2 TR
200 Mlel+=g 1,000,000 1,000,000 0
230 XIZL#AMM - 2= 1,000,000 1,000,000 0
236 f&=2 1,000,000 1,000,000 0
236-01 2 &3 1,000,000 1,000,000 0
I BE =2
1,000,000,000& 1= = 1 000,000
700 28 +UASHHEHN 4,532,961 3,592,109 940,852
720 LHSHeH 4,532,961 3,592, 109 940,852
722 GiIE =X 0= 4,532,961 3,592,109 940,852
722-03 I =¥ =8l 4,456,368 3,513,837 942,531
& E= Azsl
4,456,368,0008*1E = 4 456,368
722-04 O € =01 Ak = 76,593 78,272 21,679
FoeIS (S8 HE)
C‘;!
76,593,000 1 = 76,593
= g g A 5,632,961 4,592,109 940,852
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SN E : 2002
Ol AFXES = 0fl A
PR  TR2RE=3)|2
® X&EAHE SEREED
ZX 2. B - O - MEAY - B use | S2= | ypza
NEH
c2 5.532,961| 4,592,109 940,852
== 5,532,961| 4,592,109 940,852
T2 olmp} BE.FH| 1,056,858| 1,053,207 3,651
CERRH=)B(ER2EH=7D|D) 1,056,858| 1,053,207 3.651
cREA=n 1,056,858| 1,053,207 3,651
101 I 214] 43,350 45,707 A2,357
03 Zox(2Jj|HU)22NEL 43,350 43,350 45,707 ~2,357
1)0121H] 42,990
2)Jl22(1252) 2,153,000+ 1 * 122 = 25,836
2) 2 Al 130,0002 « 1+ 128 = 1,560
2)=el M| 6,459,0002! * 12 * 1 = 6,459
ES=: 9,135
3)IIsHEASS 20,0002 x 12 * 128 = 240
3)Ae 2R
13,50081% 1. 525 A 2+ 124 %128 = 6,075
NSRS ESSY  108,0002*1Y15Y = 1,620
SPIEE= 1,200
4)HH Xt 40,0002+ 12+ 128 = 480
AESHIEXNTEY 20,0002 *32* 128 = 720
1) 222 300,0008! %1 +13| = 300
D ENEE] 30,0002 % 12 %23 * 1 = 60
201 Lty 8,702 7,500 1,202
01 A2 R2H| 6.416 6.416 5,214 1,202
NZR=2REE ZENUY 2/A2 518,0008+123] = 6,216
1)1 =] 200,000 * 1+ 1 = 200
02 Zmeoy 2,286 2,286 2,286 0
Nt S 63,5002 *35|* 128 = 2,286
304 oi2Rg3S 4,806 0 4,806
0] c=wga 1,935 1,935 0 1,935
=geia 42,990,000 *4.5% = 1,935
02 2olLED 1,688 1,688 0 1,688
NAL 2 42,990,0002%3.495% = 1,503
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ZX 22 HH . O AEAY - BYS ey | S9= | yosa
NEH
NEIIQALH 42,990, 0002 *3. 495%*12. 27% = 185
04 ZRI(RIIHF)22NDELHERYIS 1.183 1,183 0 1,183
BREEE 42,990,000 *1.75% = 753
A28 42 ,990,0002 %1% = 430
401 AlEHIZL 2 THH] 1,000,000 1,000,000 0
01 Al&HI 1,000,000 |  1,000,000| 1,000,000 0
1) Z A 1,000,000,000& *14! = 1,000,000
MRes(E2 4,476,103| 3,538,902 937,201
WHEHHXS(E222=20|2) 4,476,103 3,538,902 937,201
SSEHHOHSIIZ(SE HE) o2 4,476,103 3,538,902 937,201
704 Ofl &2 4,476,103 3,538,902 937,201
01 oje= 4,476,103 |  4,476,103| 3,538,902 937,201
NESHHONGIIZ(SE HY) o2
4,476,103,0008+1 = 4,476,103
oz g A 5,532,961| 4,592,109 940,852
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3. &8 Jisad & Halld s

SIHHE - 2022

Oll &b Xb= 0 2 0IlAF

JAPE - E22RH=70|3 CHel M)

z 8o
= Sx238~
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OIXHEE)

2016 MHX 18,605,396 0 0 0 0 0 736,452 | 17,868,944
20179 & 722,189 0 0 0 0 0 38,855 683,334
20189 & 2,017,905 0 0 0 0 0 33,133 1,984,772
20198 & 1,564,209 0 0 0 0 0 41,406 1,522,803
20208 & 1,670,966 0 0 0 0 0 47,190 1,623,776
20218 & 1,078,272 0 0 0 0 0 78,272 1,000,000
20229 & 1,076,593 0 0 0 0 0 76,593 | 1,000,000

Al 26,735,530 0 0 0 0 0| 1,051,901| 25,683,629

SHHT - 2022

Oll &b Xb== 0 2 0dlAF

SIARE  TERE2HEEFIIS cHe M)

Z oo
= ko
s H4® HSXd | 8XE | azegy | XS Oll4=2 Ens | @
AFIHL | AFIHI % JI23H| | fie|3ake | fleiSAs =

2016 Dt X| 16,622,034 | 16,622,034 0 0 0 0 0 1,983,362
20179 & 903,437 903,437 0 0 0 0 0| A181,248
20188 & 1,207,014 1,179,796 0 27,218 0 0 0 810,891
20199 &= 706,413 670,464 0 35,949 0 0 0 857,796
202049 &= 710,464 670,341 0 40,123 0 0 0 960,502
20219 & 1,053,207 | 1,007,500 0 45,707 0 0 0 25,065
202238 & 1,056,858 | 1,008,702 0 48,156 0 0 0 19,735

Hl 22,259,427 | 22,062,274 0 197,153 0 0 0| 4,476,103

% 2000 ZAkel 20211 Z ko Ak 2021 |3
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=12 O El2
4. Xl ¥ GE= SAl
SIHAE : 2022\
Ol AFRES @ =0l Ak
SIHPE  ERRH=30|2 (ct9l: &2
MX L oo
22 ()R - - -
2020 CLUBTNH | 202HEUBI M@ | 2022 E LB AH® 52(®-@)
=9 4,431,303 4,456,368 4,476,103 19,735
EETPS' 4,431,303 4,456,368 4,476,103 19,735
BN 4,431,303 4,456,368 4,476,103 19,735
-l
(28 HE)

5 2000 ZAkH 201K ZMof Aol 20221 4|2y
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2. A2 H &
SIAHAE - 20224
CFAN I
SHRE  SELSSEAFAHEINS
® NSEAsZ (crel & el)
& A g = Al =
& = =gl ol dE o S & = NEH HEEXENH s &
= A 12,834,555 19,804,364 ~6,969,809| & A 12,834,555 19,804,364 A6,969,809
83 3,000,000 8,000,000| 25,000,000 |HlI&XHs ArS I 4,255,000 10,054,220 25,799,220
= 0 0 0| S &AL 0 0 0
= 0 0 0|2 0 0 0
if}x?f; 0 0 0] JI=&4| 0 0 0
et =33 9,623,832 11,540,810 21,916,978 | GIE 3 8,579,555 9,750,144 21,170,589
OlXlI33l =+ 0 0 0|0IXI= 0 0 0
tl== 0 0 0| xezaezas 0 0 0
Ol Rt==&d 210,723 263,554 AB2,831 |03 ae 0 0 0
JIEt==& 0 0 0| JIEtXI & 0 0 0
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SIAHHE - 20224
Ol &b Xb== 0 20l &F
AT SBALESSEYFEALEIIS
@ == Chel: @ el
= dE T - .
Eoas - I R =2 & E U
700 28 +UASHHFEHHN 12,834,555| 19,804,364| A6,969,809
720 LH= DA cH 12,834,555| 19,804,364| A6,969,809
721 8= 3,000,000 8,000,000| ~5,000,000
721-03 JIEtSI AN Y 3 3,000,000 8,000,000| ~5,000,000
1)ets| M3
3.000,000,000& 1= = 3,000,000
722 GIE =X 0= 9,834,555 11,804,364| ~1,969,809
722-03 It = sel++Y 9,623,832 11,540,810| ~ 1,916,978
N2LUA o=z B33
9,623,832,000&+1H = g 623,832
722-04 OIS0l Ah=¢ 210,723 263,554 A52,831
NEEMHHAEZIIZ(SE HEH)
Ol Kt==¢
210,723,000& 14 = 210,723
= g & A 12,834,555| 19,804,364| A6,969,809
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SlHOIE ¢ 2000
Ol AFXES: @ =04 AF
SHTE  TEUTTEYFAIAYII2
@ XA (erol@a)
ZX 22 HH . O AEAY - BYS ey | S9= | yosa
NEH
z2 12,834,555| 19,804,364 ~6,969,809
oUursH N 12,834,555| 19,804,364| /6,969,809
Xlgra ™ o1erst 4,255,000 10,054,220 A5,799,220
DEUTTEFANYIIZ(REYTTEFAIAYI2) 4,255,000 10,054,220 A5,799,220
T 2R =gy 650,000|  6,420,100| A5,770,100
401 AlZHIZL2THH 650,000|  3,677.762| ~3,027,762
01 Al&HI 600,000 600,000 | 3.413,762| 2,813,762
N2 SEZA SAHI 600,000,00084 14} = 600,000
02 22/H] 50,000 50,000 264,000  ~214,000
)22 SETA 22l 50,000,0002 141 = 50,000
HE2s FOUME ASIHE 2,185,000 154,400 2,030,600
201 LEr2 %] 25,000 84,400 59,400
01 A= 25,000 25,000 84,400 59,400
1) A= AL Ol ALY 25,000,0002*14! = 25,000
401 AlEHIZL 2 THH 2,140,000 20,000| 2,120,000
01 Al<H| 2,140,000 | 2,140,000 20,000 | 2,120,000
NEHA AE ZAHI(SAZAF Z8)
2,100,000,000&/ %14} = 2,100,000
1S OIHIZIO ZAHHI S 40,000,0008%14! = 40,000
405 XtAHE S| 20,000 50,000 30,000
01 TAUSEE=H 20,000 20,000 50,000 30,000
o g XY= = a0
)XY 217 L JIE EIIHIE 5’0,3}5000%*1& ] 20000
StE 2E#NMEY 2 1,420,000  8,479,720| A2,059,720
201 Ler2 %y 110,000 126,720 16,720
01 At222|y] 110,000 110,000 126,720 N16,720
NYAIRA 2X2 10,000,000 *1. 148" = 88,000
1)AEAL OIALE S 22,000,000 14! = 22,000
401 AlZHIZL 2 THHI 1,110,000| 3,353,000 ~A2,243,000
01 Al&HI 1,110,000 | 1,110,000| 3,353,000 | ~2,243,000
1) 2 4] 910,000,000 *1 = 910,000
1)0lglal olfelof 50,000,0002 % 14! = 50,000
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HEE
I - 22 . HY - B - MRAY - HES Xl & o s | HREZ

1oICIolete!l ’M= &x 10,000,000 *14! = 10,000
1)J1EF 2t HIZ &X 20,000,000 *14! = 20,000
NZZIJga S el 50,000,0002 % 14! = 50,000
NADIEE X HAIE & X 20,000,0002*14! = 20,000
NEHNE S dalof 20,000,000 14! = 20,000
1)AIRIZ 2 JIEt AIZZ &X| 30,000,000 %14! = 30,000

405 RHoHE S| 200,000 0 200,000

01 KAl EZx s 200,000 200,000 0 200,000
1Rt 204 150,000,0002 % 14! = 150,000
1)282(7], BXHME 20 S 50,000,0002 14! = 50,000

HRES(E2) 8,579,555  9,750,144| ~1,170,589

HEHHK S (BELZDEHAIHEYIID) 8,579,555  9,750,144| 1,170,589

SEHHHHSIIZ(SE HE) o2 8,579,555|  9,750,144| A1,170,589

704 GIE2 8,579,555|  9,750,144| A1,170,589

01 o= 8,579,555 |  8,579,555| 9,750,144 | 1,170,589

NESTHENESIIZ(SE HE) o3

8,579,555,00021x14 = 8,579,555

oz g A 12,834,555| 19,804,364| A6,969,809
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=

SAHAE 1 2020
Ol AFRFS =0l &
AHTPE  ZRUITJEOBAALIIS (cre & 2l)
e
AT g ) A
H@ dg= = A= a) Olt==¢& | JIEt=E]

2016 X 0 0 0 0 0 0
20179 = 10,400,500| 10,400,500 0 0 0 0
2018 = 149,382 0 0 0| 149,382 0
20198 &= 405,521| 300,000 0 0| 105,521 0
20204 = 3,160,095| 3,000,000 0 0| 160,095 0
20218 = 8,263,554| 8,000,000 0 0| 263,554 0
2022 = 3,210,723| 3,000,000 0 0| 210,723 0

2l 25,589,775| 24,700,500 0 0| 889,275 0
SHAE 1 20224
Ol AFRES 200 &
3M7E : ZRUBISOIFAAYIIZ (el 8d)

Xl SH OH
(= |
& = ol
= T = HEXd pleiag = -
H® ALed [ o J|=2AY| bat | ol a2 ArS JIetNE | @0®
|'l=lt” = == O‘EI' TL‘IEJDOEI'

2016 DX 0 0 0 0 0 0
20178 = 1,205,000| 1,205,000 0 0 0| 9,195,500
2018 & 800,000 800,000 0 0 0| £650,618
20198 & 696,000 696,000 0 0 0| £290,479
20204 = 0 0 0 0 0| 3,160,095
2021 = 10,054,220| 10,054,220 0 0 0| A1,790,666
202244 & 4,255,000| 4,255,000 0 0 0| 1,044,277

b 17,010,220| 17,010,220 0 0 0| 8,579,555
20000 Zoto 2021A ZLhof| Aol /ol
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12 0l Er2
4. Oixls & &= SAl
ST 1 2020
OlArRI © =2 0j 4
ST : SRUTDROIFARYIIZ (ctol: Mg
OIX 2 oo
22 |oxi(eH) - - - bl 2
PONETLBIY | 2021 HCLBHYAE | 0PHTLHIAO | F2(®-®)
2l 11,414,498 9,623,832 8,579,555 N1,044,277
HE= 2 11,414,498 9,623,832 8,579,555 A1,044,277
SEME 11,414,498 9,623,832 8,579,555 A1,044,277
SrEbIE!
(S8 A=)

2020 ALk 20211 A ltof ol 2022 A=
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13. Bv]s AR a2 o) 7] 2

29743}



o -
1.2 5 5 2
SHAE 1 20224
Gl AFXE2: =0l AF
SHTE : SBOISFAKASK20H0ID|2
@ JISEX M
(1) AXI2H @ KUY H142E, MSEYA 2237 82032 842 o2 axl =2
(2) &x=2H SHA032 N 82 NS S6t SM=ER =X
(3) AxlEE 19914
@ JI12289 Jlz24st
(1) JI2Alel =20 BA0I5 KA HEHEHIIZ2 01X HHE S8t SM=EX XA
(2) 2022495 JISAML HE  © THOITHA 10Y, CHOI2 M 40840
® J2XH ¢ =8
(1) JI2=4 8=
O Eg I3 T (29 ®a)
HE XA E c o
2021EE o 2022 & 2(3)53:505 = 3
XN @ XHUE = Bl ni
9 ® & © 222 @=0-0© + @
806,477 47,301 40,000 7,301 813,778
OJI2 & 2472 CORELS
2022 & A2 Kl <K e X0 2 g 2d+=2
&M @ 013+ A ® 0| AHEHRHOH (©) @=@+®-©
813,778 0 0 813,778
(2) Ma=d : J12es+43
(3) NEINE © sHF0SAXNE = 2 M20s L (s st = Qs
(4) NIAHE © 2 Az 2HH0I5HY et T4
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2. A=

{0
00
o

SIHOIE ;202w
Ol AFRFZ =0l
AT BHOSAKES 2002
® NSEAsZ oo Ae)
= =] H gl = Al E|

a8 = A0oH | MEcaQu| = 2 s XNEH |MESKSH| = 2
5t 5y 853,778 837,412 16,366 | & 853,778 837,412 16,366
S 0 oluisn 0 0 0
2x2 0 olgx 40,000 40,000 0
I 0 WEE 0 0 0
shser 33,354 25,590 7.764| 1= 0 0 0
(Ol K+ &) ’ ’ ’ —
EECEEE 806,477 795,911 10,566 | 0fl &t 813,778 797,412 16,366
0 %23l 0 0l ozl 0 0 0
VES=! 0 0| ez 0 0 0
IRt &2l 13,947 15,911 A1,964| 013 0 0 0
JIEr2 2 0 0| JIErX 0 0 0
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SIHAE 20224
Ol &b Xb== 0 20l &F
AR - 30l MESA=UHAHII=S

@ == (el &)
Eoas soo | Q0= =2 & E U
T g
700 EH-UASLUHF AN 853,778 837,412 16,366
710 28 S 33,354 25,590 7,764
713 EXzda+E 33,354 25,590 7,764
713-01 2IZtsXt2 el 33,354 25,590 7,764
NEX3UHZ 233>
33,354,000& 14 = 33,354
720 LHS DA A 820,424 811,822 8,602
722 HiE=2u+==2 820,424 811,822 8,602
722-03 Gt =¥ 38l+Y 806,477 795,911 10,566
N4 HE3 F38 =
806,477,000& 14 = 806,477
722-04 O &S0l Ah=¢ 13,947 15,911 A 1,964
NSEMNHHAEZIIZ(SE HEH)
Ol Kt==¢
13,947,000& x1& = 13,947
= & g A 853,778 837,412 16,366

- 112 -




BlHOIE ¢ 20024
Ol AFXES = 0fl A
SIHTE SRS RNEHS G202
® XNEAHE co )
HEE
EE 22 FH - CY - NRAY - BAS XI& aw | DS
HAME 853,778 837,412 16,366
B2 853,778 837,412 16,366
2RCAl =4 40,000 40,000 0
SAOSENES N2UHE 2 (S Z 0SS G2 U0 2) 40,000 40,000 0
A0S NS KO 40,000 40,000 0
501 SX2 40,000 40,000 0
01 oasX= 40,000 40,000 40,000 0
1) 2 Ol 40,000,0002 %1 = 40,000
HRES(HAMEDY) 813,778 797,412 16,366
HEHHXI S (SHZ0ISHRIES 22U IID) 813,778 797,412 16,366
SEWH SIS (SE HE) o2 813,778 797,412 16,366
704 Ol €2 813,778 797,412 16,366
01 o= 813,778 813,778 797,412 16,366
NESHEANSIIZ (S HE) o2
813,778,0008 « 1 = 813,778
n = g A 853,778 837,412 16,366
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:- D — r—N —
3. &Y D24 & Zid st
3OS 2020w
GlAFREZ =0 A
SHTE  BHOSGARESN2HNEI2 CHel )
x o o
0Ty ST234
A®@ dyz | 2x= | xg=2 |5 “2_94;? M43 | OIXt4Y | JIEY
(O|RHZ&t)
2016 DFAKI 3,198,371 892,625 0 0 2,141,636 0 164,110 0
20178 = 43,487 0 0 0 30,761 0 12,726 0
2018 & 57,456 0 0 0 41,732 0 15,267 457
20198 = 46,053 0 0 0 28,278 0 17,775 0
20208 = 31,394 0 0 0 25,202 0 6,192 0
20218 = 41,501 0 0 0 25,590 0 15,911 0
2022 & 47,301 0 0 0 33,354 0 13,047 0
A 3,465,563 892,625 0 0 2,326,553 0 245,928 457
ST ;2020\

GlAFREZ =0 A o o
SIHTE  BFDISATESNZUHOII2 Sel-dd)
5 o

= &l
o c g H1E HSXSE | 8N4 |ozesay | IYS o2 lEnE | @
AFH| ASIH| |% JI223H | LS AE | AL SAE
2016 DFAI 2,492,941 0 2,492,941 0 0 0 0 705,430
20178 & 14,810 0 14,810 0 0 0 0 08,677
2018 & 9,713 0 9,713 0 0 0 0 47,743
20198 = 30,080 0 30,080 0 0 0 0 15,973
20208 &= 24,241 0 24,241 0 0 0 0 7,153
20219 & 40,000 0 40,000 0 0 0 0 1,501
2022 &= 40,000 0 40,000 0 0 0 0 7,301
Al 2,651,785 0 2,651,785 0 0 0 0 813,778
% 2000 ZAKRH 20011 ZAof Akl D021 A =l ol
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4. OIxlz £ &= Al

BIHSAE 1 2002w
Ol AbXF2 = 0fl &k
3HRE : BADISRAKES 20002 ol @ 2
MX L oo
22 ()R - - -
2020 LYY | 2021HELHIH@ | 20224 CL BT H®
=9 804,975 806,477 813,778
VE = P 804,975 806,477 813,778
SEHE 804,975 806,477 813,778
-l
(28 HE)

5 2000 ZAkH 201K ZMof Aol 20221 4|2y
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14. 7| &Y A2AAX] 7]+

3 294 5}



o -
.28 33
AT 20224
Ol AFREZ @ =0 AF
HPE  HIISHAANLELXIDI2
@ JISEX MR
(1) &x12 : HISH2AAE X =X L =HIA X2 SO 2st HE, ASELHA 222 HIIS
HMelAld AXHE 240 JI2 4% 2 220 28 =g
(2) &x=2H MEEHDIS HM2IE I8 AlAo AX|0 et 2&s 12 22
(3) AxEz 20074
@ JI22E9 JI=2Lst
(1) JISAtS 252 MEHI|I2S HENOZ HMalst)|l RAsH HIISH2AlE AXe s
SUIEE ALY 23
(2) 20222 = JIaAtSE R A HIISHIAIE AX0I22 EEMEAEGII2(EE HE )2 e 2
® JI2XTH & 2
(1) JI2xH ss
O dzg J=2 =M (ct9l : AH)
2022 & XA H & 2022 &
218E Y e | w -
XHH @ TgAE® = I
BN () A& © S22 @ =0 - © @ + @
5,185,223 70,114 0 70,114 5,255,337
OJI2 & 2472 CCRELS
2022 X2 Kl <K et xH 2 s 2dA2
THY @ 013 4MA © 0] AHEHEHH (© @=@+®-©
5,255,337 0 0 5,255,337
(2) MAXH HIISH2AAE AXHE 82U, )22 222
(3) "NINE + 222 HIISHMIAAE HAD 2ish AIY =X
(4) NAUE © mHIle =2™elAld X MY S
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2. A=

[0
00
xd
Jjon

SIHAE 20224
Ol &b Xb== 0 20l &F
AHAZ ¢ HIISHAAEELX IS

OPN=E N CE-ED
- = A | X = Al &
& = =2l o HEC =N = g = X &M HECXEN s Z
= Al 5,255,337 96,742 5,158,595 | & Al 5,255,337 96,742 5,158,595
de=s 0 0 0| BIS Xt AL 0 0 0
Bx2 0 0 0| SAH- ALY 0 0 0
INEIES] 0 0 0| =23l 0 0 0
if}x?f; 0 0 0|21=dH| 0 0 0
HE=a=3+ 5,185,223 94,873 5,090,350 | I& = 5,255,337 96,742 5,158,595
Hxi=3l== 0 0 o|MIxlI= 0 0 0
= 0 0 0| Hy=az3as 0 0 0
Ol Rb== & 70,114 1,869 68,245| o~ ci3 4= 0 0 0
J|Et==¢ 0 0 0| JIEtXIZE 0 0 0
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SIAHHE - 20224
Ol &b Xb== 0 20l &F
SAHTZ  HIISBHAIAEEXIS
@ == Chel: @ el
= dEE - .
Eoas - I R =z 2 & & U o
700 EH-UASLUHF AN 5,255,337 96,742 5,158,595
720 LH= DA cH 5,255,337 96,742 5,158,595
722 e 32 M=+=2 5,255,337 96,742 5,158,595
722-03 HIg =¥ 38l 5,185,223 94,873| 5,090,350
NZAa HEZ 233+
,185,223,0008*1H = 5 185,223
722-04 O € S0l Ah= 70,114 1,869 68,245
NEEMHHHSIIZ(EE HAH)
Ol Rt==¢
70,114,000& 14 = 70,114
= g & A 5,255,337 96,742| 5,158,595
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SIHAE 20224
Ol &b Xb== 0 20l &F
AHAZ ¢ HIISHAAEELX IS

@ XA (erol@a)
ZX 2. B - O - MEAY - B use | S2= | ypza
WL
HAHE D 5,255,337 96,742 5,158,595
HOI= 5,255,337 96,742 5,158,595
HRes (2L 5,255,337 96,742 5,158,595
HEHAXE(HIISH2AANEERDIIS) 5,255,337 96,742 5,158,595
seuoEaII2(SE HE) o= 5,255,337 %6.742| 5,158,595
704 GlE= 5,255,337 96,742 5,158,595
01 o= 5,055,337 | 5,255,337 9,742| 5,158,505
NESWEARIIIS(SE HE) K2
5,055,337,00021%1 = 5,255,337
A & & A 5,255,337 96,742 5,158,595
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:- D — r—N —
3. d&d JZ2X4d 2 Aleis st
S|H T : 2000
Ol AFREZ : =0 At
SIHTE : HIISHAALII2 (ol &%)
x o o
o Ty ST234
H@ o2 | 2xz | masz BARRT gas omag | JE4y
(OIREa)
2016 DX 8,521,793 0 0| 608,036 7,913,757
2017E & 93,096 0 0 93,096 0
2018 & 90,095 0 0 90,095 0
2019E & 1,385 0 0 1,385 0
2020\ & 330 0 0 330 0
2021 & 5,093,413 0 0 1,869| 5,001,544
2022\ & 70,114 0 0 70,114 0
2 13,870,226 0 0| 864,925 13,005,301
SIHOIT ;2002w
Gl ARREZ © =20fl A )
SIHTE : HOISHMEALLERI2 (Etel:dE)
5 o
&l
LSy 4® HSXd | 8XE | ozegy | XS Oll4=2 lEns | @
AFH| ASiHl |% JI=223l | 2RSS | K| 2AE =
2016 DX 0 0 0 0 0 0 0| 8,521,793
2017E & 7,995,629| 7,995,629 0 0 0 0 0| A7,902,533
2018 & 619,260| 619,260 0 0 0 0 0| ~529,165
20194 & 0 0 0 0 0 0 0 1,385
2020\ & 0 0 0 0 0 0 0 330
2021 & 0 0 0 0 0 0 0| 5,093,413
20221 & 0 0 0 0 0 0 0 70,114
2 8,614,889| 8,614,889 0 0 0 0 0| 5,255,337

# 2020 Zod 2021 Z Mol Akl 2020 =y
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4. OIxlz £ &= Al

SIHAE 20224
Ol &b Xb== 0 20l &t

SIHRE : HISH2IANLETID (chel: & el
MX L oo
22 ()R - - -
2020 CLUBTNH | 202HEUBI M@ | 2022 E LB AH® 52(®-@)

=9 91,810 5,185,223 5,255,337 70,114

EETPS' 91,810 5,185,223 5,255,337 70,114
BN 91,810 5,185,223 5,255,337 70,114
-l
(28 HE)

# 2000W ZAlel 20211 Aol Aoy 200K 4o
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00
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20004

00
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ulo
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SHAIE O
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ok
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o

00

00
OH

ak

0
K4
ro

00
il

=
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70
K

ro

oll
A
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e

611,087

A 205,628

349,500

ol
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143,872

ol @)
U zr
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KA

2021

816,715

0
%0
Kq
K0
no
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20
K

0

611,087

@=@+0-0©

=PN=]

| =3 ©

5

al

611,087
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I

oll
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2. NI=s2SHE

BAHAT 20224

Ol &b Rp== 0 20l &

AFE - ABTEIS

OPN=E N SEREED)

- = A | X = Al &
& = =2l o HEC =N = g = X &M HECXEN s Z

= Al 960,587 1,139,745 A179,158 | & Al 960, 587 1,139,745 A179,158
de=s 0 0 0| BIS Xt AL 99,500 84,500 15,000
Bx2 0 0 0| SAH- ALY 250,000 250,000 0
INEIES] 0 0 0| =23l 0 0 0
if}x?f; 70,080 64,280 5,800| =&l 0 0 0
HEsE32+ 816,715 994,744 A178,029 | O & = 611,087 805,245 A 194,158
Hxi=3l== 0 0 o|MIxlI= 0 0 0
= 0 0 0| Hy=az3as 0 0 0
Ol Rb== & 13,792 20,721 N6,929| ol =323 aE 0 0 0
JIEt==¥ 60,000 60,000 0| JIEtXIZ 0 0 0
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SIHAE 20224
Ol &b Xb== 0 20l &F
AR - ASHSII=

@ == (el &)
= dEE = _
Eoas - I R =2 & E U
200 Mi2l==¢ 61,000 62,000 21,000
210 Z&EN 2= 61,000 62,000 21,000
215 A=nuRa+¢ 60,000 60,000 0
215-01 w3+ 60,000 60,000 0
NAZMYNEZ A2 3
60,000,000 14 = 60,000
216 Ol At==¢ 1,000 2,000 A 1,000
216-02 At=2/=01At==¢ 1,000 2,000 21,000
N8X3 0l
1,000,000& 14 = 1,000
700 BEMd=LUSLUHEHN 899,587 1,077,745 A 178,158
710 B82S 69,080 62,280 6,800
713 sit=sd3=+2 69,080 62,280 6,800
713-01 2AET S8+ 69,080 62,280 6,800
Nexna 33+
69,080,000& 14 = 69,080
720 LHS A eH 830,507 1,015,465 A 184,958
722 HE=S20 == 830,507 1,015,465 A 184,958
722-03 M 2d 32+ 816,715 994,744 A 178,029
NZAoA HE2 238+
816,715,000& 14 = 816,715
722-04 Ol & =0l Ah== & 13,792 20,721 26,929
NEEMFHHSIIZ(SE HEH)
Ol Rt==¢
13,792,000 14 = 13,792
= & g A 960,587 1,139,745 A179,158
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SAHE
Ol &b XE=

120224
= 0fl &

AR - ASHSII=

® XN&EAH& ol el
ZX 22 HH . O AEAY - BYS ey | S9= | yosa
NEH

9| 44 It 960,587 |  1,139.745|  A179,158

AlZ o|otorM 960,587 |  1,139.745|  A179,158

O SAQMAT A 349,500 334,500 15,000

AZRNEIB(ABREIZ) 349,500 334,500 15,000

ANENSE & ST 81 250,000 250,000 0

501 SN2 250,000 250,000 0

01 oI2ISX= 250,000 250,000 250,000 0
NAZHMAA U DHSAIEDE0,000,0002+1E = 250,000

SASNE L AZQ MR 99,500 84,500 15,000

201 Lty 74,500 64,500 10,000

01 Al222)H| 62,500 62,500 52,500 10,000
NSASsHE 22| 7.000,00021 %1 = 7,000
NAZSSHY 22| 6,500,0002*1 = 6,500
NUESES =071 E2H  2,000,0002+1E = 2,000
1)@agA QIMEIE XY 180,00021%15000 4 = 27,000
NABHMA A SoAQMSE XIE,OOO,OOO%H'& ) 10,000

NAIZZMAA QMSTH ALE

10,000,0002 %14 = 10,000

03 A2 Y| 12,000 12,000 12,000 0
1)OIRI0] A4S OhX SEWS  300,0008 403 = 12,000

301 BB A2 15,000 15,000 0

12 JlEIEAD 15,000 15,000 15,000 0
1AHIXAZ M2 BSH 50,0002 3008 = 15,000

307 BIZ2HO| & 10,000 5,000 5,000

04 DI2FSHAIAIOIE X 10,000 10,000 5,000 5,000

NSASINE S& Y YAG

10,000,000 *13] = 10,000

MREs (2l 611,087 805,245| A 194,158

UWEHANE(AZTED2) 611,087 805,245|  A194,158

SEHUHHSIIS(SE HE) =2 611,087 805,245| A 194,158

704 O3 611,087 805,245| A 194,158

01 o= 611,087 611,087 805,245| 194,158
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A179, 158
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Rl K

1,139,745

o=
o

K

960,587
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g
Rl
Ki

ELD
=]

AE) o

611,087

%13 =

(=}
=

611,087,000

- 130 -



3. Y D24 &L HEHSE
YAHAC 20224
Ol &FXb== @ 20l At
HR=Z  ABAEDZ TR SESD
4o
o T4 S35
H@ dyaz | 222 | g3 |5 *"S’iT M2 | OIXt4Y | DB
(OIRHEE)

20162 DX 5,041,905 310,000| 1,535,355 0| 2,092,420 0 249,076 855,054
20178 & 238,734 0 20,000 0 116,205 0 17,047 85,482
201848 & 242,322 0 60,000 0 62,984 0 20,638 98,700
201948 & 137,649 0 30,000 0 7,229 0 25,078 75,342
202049 & 170,631 0 60,000 0 54,728 0 10,711 45,192
20219 & 145,001 0 0 0 64,280 0 20,721 60,000
20223 & 143,872 0 0 0 70,080 0 13,792 60,000

Al 6,120,114 310,000 1,705,355 0| 2,467,926 0 357,063 | 1,279,770
SIHHE 2022
Gl & Xb== 0 204
HRE : ABNSI|IZ S Ed)

Z o o

T & o

FE2| e |HBKE | SNUE emeas | Y3 | U3 | 0. | @-
APIHI | AFRJHI % J123HI | Qpi3Ae | H2ISAE

20162 It K| 4,156,357 1,768,315 2,248,150 120, 141 0 0 19,751 885,548
20178 & 75,091 75,091 0 0 0 0 0 163,643
20188 & 105,073 99,645 0 0 0 0 5,428 137,249
20199 & 262,203 88,360 172,000 0 0 0 1,843 A124,554
202049 &= 226,303 96,257 130,000 0 0 0 46 ADB5,672
20219 &= 334,500 84,500 250,000 0 0 0 0| 2189,499
20229 & 349,500 99,500 250,000 0 0 0 0| A205,628

Al 5,509,027 2,311,668 3,050,150 120, 141 0 0 27,068 611,087
s 20000 Aot 20211 ZAtof| Aol 20221 A=
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|22 al (= o}
4. Oixls & GE= EAl
ST ¢ 2022
AR S © =0iA
SADE  AEXSIIZ (ci9: H
BIREIRVEE!
22 | 0IXI(E)A - - -
PO SR | 2021 S BT U@ | 20220 S E Y AUE® (®-@)
&l 1,006,214 816,715 611,087 £205,628
E=NPS | 1,006,214 816,715 611,087 £205,628
SaHE 1,006,214 816,715 611,087 A205,628
LS
(S8 AF)

# 2000W ZAlel 20211 Aol Aoy 200K 4o
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